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(5)
2006 2010 2002 25
kW
125  kw 250W 500
4,500 11 2010 CO2 47
91 tCO: 1990 CO2 12,900 tCO 04 0.7
2007 2010 25 kW
2007 2010 125 kw
2012 125 kWx<0.12 8,760 =1,314GWh
CO2 0.36kgCO2/kWh
0.69kgCO2/kWh
1,314GWh><0.36 0.69 kgCO2/kWh 47 91 tCO:
1990 CO: 12,900 tCO:
1990 CO: 04 0.7
5
100W 3 300W
2 200W CO 220
404  tCO 1990 CO 1.7 3.1
12
12 CO,
"1 *2 co, [ tCO,]
[ 1l 110 kwl [ [ Mwh
2,642 300 793 417 150 275
356 200 71 37 13 24
213 200 43 23 8 15
95 200 19 10 4 7
1,199 200 240 126 45 83
4505] - 1,166 613 220 404
*1 12
*2 50
*3 CO2 0.36kgCO2/kWh 0.69kgCO2/kWh
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15 02 COZ

]z | LpG |
[ ] 17 9 15 20 8 10
[ ] 5.9 11.1
[ 2006 2008 2006 2008
[ ] 295 33.3 2010
[ ] 32.4 1995 2005
[PJ] 2,554 2,322
[ 1 11.7 29.6 9.8 8.8 7.112001 2003
[TJ] 5549| 14,040 2,273 2,041 1647] = < Xx + > 3
cO2 [kgCO,/MJ]| 0.0494| 0.0693| 0.0494| 0.0598| 0.0679
cO2 [ tCO,] 27 97 11 12 11] = X<
124 34
158
*1
*2 A
2010 CO> 201 tCO:2
105 tCO: 1990 CO> 1.4 CO>
0.8 16
16 O, CO;
1]z | PG |
[PJ] 2,554 2,322
2001
[ 1] 117 296 9.8 8.8 71 2003
[TJ] 8,965| 22,681 6,827 6,130 4946 = >x X 3
Co, [kgCO,/MJ]| 0.0494| 0.0693] 0.0494]| 0.0598| 0.0679
co, [ tCO, 44 157 34 37 3] = =<
201 105
306
*1
*2 A
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